05 DIM V(17, 10)

REM 17 - number of indicators

REM 10+1 - number of years simulated

10 V(1, 0) = 9.48

20 V(2, 0) = 90655.89

21 V(3, 0) = 26293.52

30 V(4, 0) = 116949.42#

40 V(5, 0) = 63085.18

41 V(6, 0) = 3125.93

42 V(7, 0) = V(5, 0) + V(6, 0)

43 V(8, 0) = 89016.53

44 V(9, 0) = 111351.09#

45 V(10, 0) = V(8, 0) - V(9, 0)

46 V(11, 0) = 148081.3

47 V(12, 0) = 27.36

48 V(13, 0) = .7

49 V(14, 0) = 68409.9

50 V(15, 0) = 71416.6

51 V(16, 0) = 16

60 FOR I = 1 TO 10

70 V(16, I) = I + 16

80 NEXT I

90 OPEN "Belarus.txt" FOR OUTPUT AS #1 LEN = 20000

100 FOR I = 1 TO 10

110 J = I - 1

120 V(1, I) = 14.2312 - .0467 * V(16, I) - .3943 * V(1, J) - .000003711# * V(2, J)

130 V(2, I) = 310923.2 - 30814.7 * V(1, I) + 1.066 * V(2, J) - .113 * V(4, J)

140 V(3, I) = 122824 - 12146.8 * V(1, I) - .0092 * V(2, I) + .8259 * V(3, J)

150 V(4, I) = V(2, I) + V(3, I)

160 V(5, I) = -146935 + 14549.15 * V(1, I) + .315906 * V(4, I) + .678715 * V(5, J)

170 V(6, I) = -1103.46 + 268.44 * V(16, I)

180 V(7, I) = V(5, I) + V(6, I)

190 V(8, I) = -198 + 1.224 * V(4, I) - .375 * V(7, I) - .3431 * V(8, J)

200 V(9, I) = 596.91 + .7508 * V(7, I) + .715903 * V(8, I) - .0466 * V(9, J)

210 V(10, I) = V(8, I) - V(9, I)

220 V(11, I) = V(4, I) + V(7, I) + V(10, I)

230 V(12, I) = 24.996 + .000236 * V(11, I) - .000554 * V(5, I) - 1.822 * V(13, J)

240 V(13, I) = -5.868 - .0000029 * V(11, I) + 1.125 * V(1, I) - .1254 * V(12, I)

250 V(14, I) = -1501.72 - .476 * V(5, I) + .8 * V(4, I) + .171 * V(15, J)

260 V(15, I) = -418.86 + .578 * V(14, I) + .2518 * V(4, I) - .0433 * V(5, I)

450 NEXT I

460 PRINT #1, , "INDICATORS"

470 PRINT #1, , "1. POPULATION"

480 PRINT #1, , "2. Household consumption expenditure"

490 PRINT #1, , "3. General government final consumption expenditure"

500 PRINT #1, , "4. Final consumption expenditure"

510 PRINT #1, , "5. Gross fixed capital formation"

520 PRINT #1, , "6. Changes in inventories"

530 PRINT #1, , "7. Total Investment"

540 PRINT #1, , "8. Exports of goods and services"

550 PRINT #1, , "9. Imports of goods and services"

560 PRINT #1, , "10. Net exports"

570 PRINT #1, , "11. Gross domestic product"

580 PRINT #1, , "12. Gross National savings"

590 PRINT #1, , "13. Unemployment rating"

600 PRINT #1, , "14. Gross government revenue"

610 PRINT #1, , "15. General government total expenditure"

730 FOR J = 1 TO 10 STEP 5

740 PRINT #1,

750 PRINT #1,

760 PRINT #1, " N ", J + 2010, J + 2011, J + 2012, J + 2013, J + 2014

770 PRINT #1,

780 N = 0

790 FOR T = 1 TO 15

800 N = N + 1

810 PRINT #1, N,

820 FOR S = J TO J + 3

830 PRINT #1, V(T, S),

840 NEXT S

850 PRINT #1, V(T, J + 4)

860 PRINT #1, "Rate of incr",

870 FOR S = J TO J + 3

880 IF V(T, S - 1) = 0 THEN GOTO 900

890 PRINT #1, V(T, S) / V(T, S - 1) * 100 - 100,

900 IF V(T, S - 1) = 0 THEN PRINT #1, 0

910 NEXT S

920 PRINT #1, V(T, J + 4) / V(T, J + 3) * 100 - 100

930 NEXT T

935 PRINT #1, " "

940 NEXT J

950 CLOSE #1

